

From: "██████████" <██████████>
To: Karyna Shuliak <██████████>
Subject: Receipt for Your Payment to ACTURUS CAPITAL, S.L.
Date: Sat, 18 Jul 2015 00:44:11 +0000



Jul 17, 2015 17:43:21 PDT
Transaction ID: [50H51666P3331943R](#)

Hello Karyna Shuliak,

You sent a payment of €2,179.67 EUR to ACTURUS CAPITAL, S.L.
(██████████)

It may take a few moments for this transaction to appear in your account.

Merchant
ACTURUS CAPITAL, S.L.
██████████

Instructions to merchant
You haven't entered any instructions.

Shipping address - confirmed
Karyna Shuliak
C East 71st
9
New York, NY 10021
United States

Shipping details
The seller hasn't provided any shipping details yet.

Description	Unit price	Qty	Amount
Navy Blue Suede Oxford Shoes Item# 1120s150145-46	€55.37 EUR	1	€55.37 EUR
Navy Blue Suede Ankle Boots With Crepe Sole Item# 1120s150121-46	€49.59 EUR	1	€49.59 EUR
Royal Blue Suede Moccasins Item# 1120s150174-45	€49.59 EUR	1	€49.59 EUR
Brown Suede Short Ankle Boot With Neolite Sole Item# 1120s150164-46	€55.37 EUR	1	€55.37 EUR
Mink Desert Boots Item# 1120s150136-46	€43.80 EUR	1	€43.80 EUR
Mink Suede Mocassins Item# 1120s150172-46	€49.59 EUR	2	€99.18 EUR
Mink Suede Mocassins Item# 1120s150172-45	€49.59 EUR	1	€49.59 EUR
Brown Suede Mocassins Item# 1120s150170-45	€49.59 EUR	1	€49.59 EUR
Royal Blue Suede Mocassins Item# 1120s150173-45	€49.59 EUR	2	€99.18 EUR

Dark Blue Canvas Match Sneaker w/ Ribbon Detail Item# 4110W140172-45	€45.45 EUR	1	€45.45 EUR
Dark Blue Canvas Match Sneaker w/ Ribbon Detail Item# 4110W140172-46	€45.45 EUR	1	€45.45 EUR
Blue Canvas Match Sneaker w/ Ribbon Detail Item# 4110W140176-46	€45.45 EUR	1	€45.45 EUR
Brown Suede Ankle Boots With Crepe Sole Item# 1120s150122-46	€49.59 EUR	2	€99.18 EUR
Blue Canvas Match Sneaker w/ Ribbon Detail Item# 4110W140176-45	€45.45 EUR	1	€45.45 EUR
Tigra Red Canvas Contrast Item# 4110s150197-45	€32.23 EUR	1	€32.23 EUR
Tigra Red Canvas Contrast Item# 4110s150197-46	€32.23 EUR	1	€32.23 EUR
Red Canvas Match Sneaker w/ Ribbon Detail Item# 4110W140175-46	€45.45 EUR	1	€45.45 EUR
Match Off White Canvas Contrast Item# 4110s150187-45	€32.23 EUR	1	€32.23 EUR
Royal Blue Running Sneaker w/ Ribbon Detail Item# 4110s150183-45	€61.98 EUR	1	€61.98 EUR
Royal Blue Running Sneaker w/ Ribbon Detail Item# 4110s150183-46	€61.98 EUR	1	€61.98 EUR
Volley White Canvas Item# 4110s150164-45	€32.23 EUR	1	€32.23 EUR
Volley Dark Blue Canvas Item# 4110s150163-46	€32.23 EUR	1	€32.23 EUR
Volley Dark Blue Canvas Item# 4110s150163-45	€32.23 EUR	1	€32.23 EUR
Green Deck Shoes Item# 1120s150180-46	€49.59 EUR	1	€49.59 EUR
Volley Dark Green Canvas Item# 4110s150165-45	€32.23 EUR	1	€32.23 EUR
Volley White Canvas Item# 4110s150164-46	€32.23 EUR	1	€32.23 EUR
Match Red Canvas Ribbon Item# 4110s150145-46	€45.45 EUR	1	€45.45 EUR
Black Running Sneaker w/ Ribbon Detail Item# 4110s150186-46	€61.98 EUR	1	€61.98 EUR
Match Dark Blue Canvas Contrast Item# 4110s150188-45	€32.23 EUR	1	€32.23 EUR

Volley Grey Canvas Item# 4110s150167-46	€32.23 EUR	1	€32.23 EUR
Volley Grey Canvas Item# 4110s150167-45	€32.23 EUR	1	€32.23 EUR
Volley Red Canvas Item# 4110s150166-46	€32.23 EUR	1	€32.23 EUR
Volley Red Canvas Item# 4110s150166-45	€32.23 EUR	1	€32.23 EUR
Volley Blue Canvas Item# 4110s150168-46	€32.23 EUR	1	€32.23 EUR
Navy Suede Short Ankle Boot With Neolite Sole Item# 1120s150163-46	€55.37 EUR	1	€55.37 EUR
Volley Blue Canvas Item# 4110s150168-45	€32.23 EUR	1	€32.23 EUR
Surcharge Item# surcharge	€0.00 EUR	1	€0.00 EUR
Mink Suede Short Ankle Boot With Neolite Sole Item# 1120s150166-46	€55.37 EUR	2	€110.74 EUR
Royal Blue Suede Short Ankle Boot With Neolite Sole Item# 1120s150167-46	€55.37 EUR	2	€110.74 EUR
Navy Blue Leather Oxford Shoe Item# 1120s150151-46	€55.37 EUR	1	€55.37 EUR
Royal Blue Suede Oxford Shoes Item# 1120s150149-46	€55.37 EUR	2	€110.74 EUR
Royal Blue Suede Moccasins Item# 1120s150174-46	€49.59 EUR	1	€49.59 EUR

Subtotal	€2,134.67 EUR
Shipping and handling	€45.00 EUR
Total	€2,179.67 EUR

Payment €2,179.67 EUR

Charge will appear on your credit card statement as "PAYPAL *ACTURUSCAPI"
Payment sent to [REDACTED]

Invoice ID: 520007078

Issues with this transaction?

You have 180 days from the date of the transaction to open a dispute in the Resolution Center.

Questions? Go to the Help Center at [REDACTED]

Get verified - Pay from your bank account and you're 100% protected against unauthorized payments sent from your PayPal account. Log in and click the **Get verified** link below your name.

RIGHT TO REFUND

You, the customer, are entitled to a refund of the money to be transmitted as a result of this agreement if PayPal does not forward the money received from you within 10 days of the date of its receipt, or does not give instructions committing an equivalent amount of money to the person designated by you within 10 days of the date of the receipt of the funds from you unless otherwise instructed by you.

If your instructions as to when the money shall be forwarded or transmitted are not complied with, and the money has not yet been forwarded or transmitted, you have a right to a refund of your money. If you want a refund, you may contact PayPal by calling toll-free 1-888-221-1161.

For assistance with matters regarding your PayPal account not identified above, please contact us toll free at 1-888-221-1161.

PayPal as the licensee is liable for non-delivery or delayed delivery of your funds. PayPal, Inc. is licensed to receive and transmit money under New York law.

Please do not reply to this email. This mailbox is not monitored and you will not receive a response. For assistance, log in to your PayPal account and click **Help** in the top right corner of any PayPal page.

You can receive plain text emails instead of HTML emails. To change your Notifications preferences, log in to your account, go to your Profile, and click **My settings**.

PayPal Email ID PP120 - a730f60ff0afa